

# ON THE CONVERGENCE OF TWO-PARAMETER MARTINGALES AND GEOMETRIC CHARACTERIZATIONS OF BANACH SPACES

NGUYEN VAN HUNG

**Abstract.** Let  $(M) = (M_{m,n}, (m, n) \in N^2)$  be a two-parameter Banach-valued martingale. In this note some interrelations between the almost sure convergence of  $(M)$  and the finiteness of its  $r$ -order conditional variation (and its  $r$ -order variation) are investigated. Also the three-series theorem is given in the presence of geometric characterizations of Banach spaces.

## 1. INTRODUCTION

Let  $(\Omega, F, F_n, P)$ ,  $n = 1, 2, \dots$ , be a filtration probability,  $(B, \|\cdot\|)$  a Banach space. Let  $(M) = (M_m, F_n)$  be a  $B$ -valued martingale. We define for  $1 < r \leq 2$ ,  $n = 1, 2, \dots$

$$B_n(r) = \sum_{k=1}^n E(\|\Delta M_k\|^r | F_k), \quad (1.1)$$

( $r$ -order conditional variation of  $(M)$ ), and

$$V_n(r) = \sum_{k=1}^n \|\Delta M_k\|^r \quad (1.2)$$

( $r$ -order variation of  $(M)$ ), where  $\Delta M_n = M_{n+1} - M_n$ ,  $M_0 = 0$ .

D. H. Thang and N. D. Tien [10] have studied the interrelation between the finiteness of  $B_n(r)$  ( $V_n(r)$ ) and the almost sure convergence of  $(M)$  in the present

of geometric characterization of  $B$ . Some inequalities of Doob's type concerning  $B(r)$  and  $V(r)$  are also investigated. Note that this result appeared earlier in the real case [1], [4], [6].

The aim of this note is to extend some of these results to the case of two-parameter  $B$ -valued martingales. Our methods are based on results of the one-parameter case and an idea of Fefferman which was used to obtain such results in the real case by Brossard [1]. Note that, as far as we know, this approach does not allow us to obtain every result which has been done for one-parameter Banach-valued martingales because of the lack of stopping times. This note can be regarded as a continuation of [9].

## 2. NOTATIONS AND PRELIMINARIES

Let  $N^2 = N * N$  be a set of parameters with the order  $(i, j) \leq (m, n)$  if  $i \leq m, j \leq n$ . Let  $(\Omega, F, P)$  be a probability space and let  $(F_{m,n})$  be an increasing family of sub- $\sigma$ -fields of  $F$ . Throughout  $(F_{m,n})$  are assumed to satisfy the usual condition  $(F_4)$  (c.f. [2] for definition).

A sequence  $(X_{m,n})$  is said to be adapted if  $X_{m,n}$  is  $F_{m,n}$ -measurable for every  $(m, n) \in N^2$ .

Given a sequence  $(X_{m,n})$  we set for  $(m_1, n_1) \leq (m_2, n_2)$ ,

$$X[(m_1, n_1), (m_2, n_2)] = X_{m_2, n_2} - X_{m_2, n_1} - X_{m_1, n_2} + X_{m_1, n_1} = \Delta X_{(m_1, n_1), (m_2, n_2)}.$$

This quantity is called the increment of  $(X)$  on the rectangle  $\{(m, n) \in N^2 : (m_1, n_1) < (m, n) \leq (m_2, n_2)\}$ .

Unless otherwise stated, a sequence  $(X_{m,n})$  is assumed to be Bochner integrable, adapted to  $\sigma$ -fields  $(F_{m,n})$  and it takes its values in a Banach space  $(B, \|\cdot\|)$ .

A  $L^1$ -integrable adapted sequence  $(M_{m,n})$  is said to be a martingale if

$$E(M_{m,n} | F_{i,j}) = M_{i,j} \quad \text{whenever } (i, j) \leq (m, n) \in N^2.$$

A Banach space  $B$  is said to be  $p$ -smoothable ( $1 < p \leq 2$ ) if (possible after equivalent renorming)

$$q_B(t) = \sup \left\{ \frac{(\|x + ty\| - \|x - ty\|)}{2} - 1 : \|x\| = \|y\| = 1 \right\} \\ = O(t^p) \quad \text{as } t \rightarrow 0.$$

$B$  is superreflexive if it is  $p$ -smoothable for a  $p > 1$ . With a  $B$ -valued martingale  $(M_{m,n}, F_{m,n})$ , we denote  $\Delta M_{m,n}$ ,  $(m, n) \in \mathbb{N}^2$ , for its increments.

In what follows, we shall assume  $M_{m,n} = 0$  if  $m$  or  $n = 0$ , i.e.  $M_{m,n}$  is null on the axes, in which condition  $(M_{m,n})$  can be written as

$$M_{m,n} = \sum_{i=1}^m \sum_{j=1}^n \Delta M_{i,j} \stackrel{\text{df}}{=} \sum_{i=1}^m \sum_{j=1}^n X_{i,j}.$$

We now present some results which are used very often later on. Their proofs can be found in [9].

**Proposition 2.1.** *Let  $B$  be a separable Banach space and  $1 < p \leq 2$ . The following properties are equivalent:*

- (i) Every two-parameter  $B$ -valued martingale  $(M_{m,n})$  satisfying the  $(L \log^+ L)$ -condition converges a.s. and in  $L^1$ .
- (ii) Every two-parameter  $B$ -valued martingale  $(M_{m,n})$  satisfying the  $L^p$ -condition converges a.s. and in  $L^p$ .
- (iii)  $B$  has the Random - Nikodym property (RNP).

Recall that a martingale  $(M_{m,n})$  is said to be satisfiable the  $(L \log^+ L)$ -condition if

$$\sup_{(m,n)} E(\|M_{m,n}\| \log^+ \|M_{m,n}\|) < \infty.$$

It satisfies the  $L^p$ -condition if

$$\sup_{(m,n)} E\|M_{m,n}\|^p < \infty.$$

**Proposition 2.2.** *Let  $B$  be a separable Banach space and  $1 < p \leq 2$ . The following three assertions are equivalent:*

- (i)  $B$  is isomorphic to a  $p$ -smoothable Banach space,
- (ii) There exists a constant  $C_p$  (only depending on  $p$ ) such that for every two-parameter  $B$ -valued martingale  $(M_{m,n})$  we have

$$\sup_{(m,n)} E\|M_{m,n}\|^p \leq C_p \sum_{i=1}^m \sum_{j=1}^n E\|\Delta M_{i,j}\|^p$$

(Assauad - Pisier's inequality)

(iii) For every two-parameter  $B$ -valued martingale  $(M_{m,n})$  satisfying the condition

$$\sum_{i=1}^m \sum_{j=1}^n E \|\Delta M_{i,j}\|^p / (ij)^p < \infty,$$

we have that the martingale  $M_{m,n} = \sum_{i=1}^m \sum_{j=1}^n \Delta M_{i,j} / ij$  converges a.s. in the norm of  $B$ .

Note that from (iii) and Kronecker's lemma (cf.[10]) we get

$$(1/mn) \sum_{i=1}^m \sum_{j=1}^n \Delta M_{i,j} \rightarrow 0 \text{ a.s.}$$

The following lemma (due to Brossord [1]) is used to get Theorem 3.1.

**Lemma 2.1.** Let  $A$  be an event and  $a_{m,n} = E[1_A | F_{m,n}]$ . Set  $B = \inf_{m,n} a_{m,n} \geq 1 - \alpha$ ,  $\alpha \in (0, 1]$ . Then we have  $B \subset A$  a.s. and  $P(B^c) \leq cP(A^c)$ , where  $1_A$  denote the indicator function of the set  $A$ ,  $C$  is a constant not depending on  $\alpha$  and  $B^c = \Omega \setminus B$ ,  $A^c = \Omega \setminus A$ .

### 3. THE MAIN RESULTS

Let us define, for  $(m, n) \in N^2$ ,

$$M^* = \sup_{(m,n)} \|M_{m,n}\|,$$

$$B_{m,n}(p) = \sum_{i=1}^m \sum_{j=1}^n E(\|\Delta M_{i,j}\|^p | F_{i,j}),$$

( $p$ -order conditional variation of  $(M)$ ),

$$V_{m,n}(p) = \sum_{i=1}^m \sum_{j=1}^n \|\Delta M_{i,j}\|^p,$$

( $p$ -order variation of  $(M)$ ).

Denote  $B(p), V(p)$  for  $B_\infty(p), V_\infty(p)$ . Note that if  $p = 2$ , we have the Hilbert space case and  $B_{m,n}, V_{m,n}$  have been used in [1] to pursue the same purpose here.

**Theorem 3.1.** Let  $B$  be a  $p$ -smoothable Banach space,  $1 < p \leq 2$  and  $(M_{m,n})$  be a  $B$ -valued martingale. For every  $\lambda > 0$  we have the following inequality:

$$P(M^* > \lambda) \leq C_p \{ P(B^{1/p}(p) > \lambda) + (1/\lambda^p) E[B(p); B^{1/p}(p) \leq \lambda] \}. \quad (3.1)$$

*Proof.*

Set  $A = B^{1/p}(p) \leq \lambda$ ,  $B$  and  $a_{m,n}$  being defined as in Lemma 2.1 with  $\alpha = 1/2$ , i.e.  $B = \inf_{(m,n)} a_{m,n} \geq 1/2$ .

We have for an arbitrary fixed  $\lambda > 0$

$$P(M^* > \lambda) \leq P(B^c) + P(M^* > \lambda; B).$$

In view of Lemma 2.1, to obtain (3.10) we only have to dominate  $P(M^* > \lambda; B)$ .

Now we observe that  $M_{m,n}$  coincides with the martingale

$$M_{m,n} = \sum_{i=1}^m \sum_{j=1}^n 1_{\alpha_{i,j}} \Delta M_{i,j} \text{ on } B. \text{ Thus}$$

$$\begin{aligned} P(M^* > \lambda; B) &\leq P(M^* > \lambda) \\ &\leq (1/\lambda^p) E(M^{*p}) \\ &\text{(Chebyshev's inequality)} \\ &\leq (C_p/\lambda^p) \sup_{(m,n)} E \|M_{m,n}\|^p \\ &\text{(Doob's inequality)} \\ &\leq (C_p^2/\lambda^p) E \left\{ \sum_{(m,n) \in N^2} 1_{\{a_{m,n} \geq 1/2\}} \|\Delta M_{m,n}\|^p \right\} \\ &\text{(Assauad-Pisier's inequality)} \\ &\leq (C_p/\lambda^p) E \left\{ \sum_{(m,n) \in N^2} (E(\|\Delta M_{m,n}\|^p | F_{m,n})) \cdot \right. \\ &\quad \left. 1_{\{a_{m,n} \geq 1/2\}} \|\Delta M_{m,n}\|^p \right\} \\ &\leq (2C_p/\lambda^p) E \left\{ \sum_{(m,n) \in N^2} E(\|\Delta M_{m,n}\|^p | F_{m,n}) a_{m,n} \right\} \\ &= (2C_p/\lambda^p) E[B(p); a_\infty] \\ &= (2C_p/\lambda^p) E[B(p); B(p) \leq \lambda] \quad \text{Q.E.D.} \end{aligned}$$

Note that by putting  $p = 2$  in the above theorem we obtain Theorem 2.1 in [1].

**Theorem 3.2.** Suppose that  $B$  is a  $p$ -smoothable Banach space,  $1 < p \leq 2$ . Then we have the following facts

- (i)  $\{B(p) < \infty\} \subset \{M_{m,n} \text{ converges a.s.}\}$  a.s.
- (ii)  $M_{i,\infty}$ ,  $M_{\infty,j}$  and  $M_{\infty\infty}$  exist a.s. on the set  $\{B(p) < \infty\}$
- (iii) For each  $0 \leq r < 1$

$$E(M^*)^{r+1} \leq C_{p,r} E[B(p)]^{(r+1)/p}. \quad (3.2)$$

*Proof.*

The proof of (i) and (ii) are similar to that of Theorem 2 in [1], and so we omit them.

Now we prove (iii). Note at first that

$$E(M^*)^{r+1} = \int_0^\infty \lambda^r P(M^* > \lambda) d\lambda.$$

Multiplying two sides of (3.1) with  $\lambda^r$  and taking integration in  $\lambda$  from 0 to  $\infty$ , we get

$$\begin{aligned} E(M^*)^{r+1} &\leq C_p \left\{ \int_0^\infty \lambda^r P(M^* > \lambda) d\lambda \right. \\ &\quad \left. + \int_0^\infty \lambda^{r-p} E[B(p); B(p) \leq \lambda] d\lambda \right\} \\ &= C_p \left\{ E(B^{(r+1)/p}(p)) + \int_0^\infty \lambda^{r-p} d\lambda \int_0^\infty x^{p-1} P(B^{1/p}(p) > x) dx \right\} \\ &= C_{p,r} \left\{ E(B^{(r+1)/p}(p)) \right. \\ &\quad \left. + \int_0^\infty \lambda^{r-p} d\lambda \int_0^\infty x^{p-1} P(B^{1/p}(p) > x) dx \int_0^\infty \lambda^{r-p} d\lambda \right\} \\ &= C_{p,r} \left\{ E(B^{(r+1)/p}(p)) + \int_0^\infty x^r P(B^{1/p}(p) > x) dx \right\} \\ &= C_{p,r} E(B^{(r+1)/p}(p)). \quad \text{Q.E.D.} \end{aligned}$$

Remarks. 1) Taking  $r = 0$  in (3.2) we get

$$E(M^*) \leq C_p E(B^{1/p}(p)). \tag{3.3}$$

Inequality (3.3) is useful in the one-parameter case (cf. [1],[2]).

2) Taking  $r + p - 1$  in (3.2) we obtain

$$E(M^*)^p \leq C_p E(B(p)). \tag{3.4}$$

Inequality (3.4) was found by Brossard ([1], Theorem 1) in the real case.

We now deal with the case in the presence of  $V_\infty(p)$ .

**Theorem 3.3.** Suppose that  $B$  is a separable Banach space and  $1 < p \leq 2$ . The following assertions are equivalent:

(1)  $B$  is isomorphic to a  $p$ -smoothable Banach space,

(2) For every two-parameter  $B$ -valued martingale  $(M_{m,n}, F_{m,n})$  we have

$$\{B_\infty(p) < \infty\} \subset \{M_{m,n} \text{ converges a.s.}\} \text{ a.s.}$$

(3) for every two-parameter  $B$ -valued martingale  $(M_{m,n}, F_{m,n})$  satisfying the condition  $E(M^*)^p < \infty$  we have

$$\{V_\infty(p) < \infty\} \subset \{M_{m,n} \text{ converges a.s.}\} \text{ a.s.}$$

To prove this theorem we need the following lemma which is an extension of Theorem 2.1 in [7].

**Lemma 3.1.** Let  $(u_{i,j})$  be a non-negative real-valued sequence of two-parameter random variables such that  $u_{i,j}$  is  $F_{i,j}$ -measurable.

Set, for all  $(i,j) \in N^2$  and  $(m,n) \in N^2$ ,

$$b_{i,j} = E(u_{i,j} | F_{i-1,j-1}),$$

$$b_{i,j} = 0 \text{ if } i \text{ or } j = 0,$$

$$V_{m,n} = \sum_{i=1}^m \sum_{j=1}^n u_{i,j},$$

$$B_{m,n} = \sum_{i=1}^m \sum_{j=1}^n b_{i,j}.$$

If  $E(\sup_{(m,n)} u_{m,n}) < \infty$ , then we have

$$(3.3) \quad \{V(p) < \infty\} = \{B(p) < \infty\}.$$

*Proof.*

We have at first the following observations:

- (1)  $V_{m,n}(p)$  and  $B_{m,n}(p)$  are non-negative and  $B_{m,n}(p)$  are  $F_{m,n}$ -predictable.
- (2) We always have for all  $(m, n) \in N^2$  that

$$\begin{aligned} V_{k,k}(p) &\leq V_{m,n}(p) \leq V_{r,r}(p), \\ B_{k,k}(p) &\leq B_{m,n}(p) \leq B_{r,r}(p), \end{aligned}$$

where  $k = \min(m, n)$ ,  $r = \max(m, n)$ .

The two above facts let us see that it suffices to prove the conclusion in the one-parameter case, precisely in the diagonal. Hence the rest of the proof can be proceeded as Theorem 2.1 in [7]. Q.E.D.

*Proof of Theorem 3.3.* We shall prove Theorem 3.3 as the following implications:

(1)  $\Rightarrow$  (2)  $\Rightarrow$  (3)  $\Rightarrow$  (1).

(1)  $\Rightarrow$  (2) is a consequence of Theorem 3.2.

(2)  $\Rightarrow$  (3) follows from Theorem 3.2 and Lemma 3.1.

(3)  $\Rightarrow$  (1). Suppose that  $(M_{m,n}, F_{m,n})$  is  $B$ -valued martingale satisfying the condition

$$\sum_{i=1}^m \sum_{j=1}^n E \|\Delta M_{i,j}\|^p / (ij)^p < \infty. \quad (3.5)$$

Consider the following  $B$ -valued sequence

$$\begin{aligned} Y_{m,n} &= (1/mn) \Delta M_{m,n}, \quad (m, n) \in N^2, \\ Y_{m,n} &= 0 \text{ if } m \text{ or } n = 0. \end{aligned}$$

Clearly,  $(N_{m,n} = \sum_{i=1}^m \sum_{j=1}^n Y_{i,j}, F_{m,n})$  is a  $B$ -valued martingale and

$$\begin{aligned}
 V(p, N) &= \sum_{i=1}^m \sum_{j=1}^n \|\Delta N_{i,j}\|^p / (ij)^p \\
 &= \sum_{i=1}^m \sum_{j=1}^n \|\Delta M_{i,j}\|^p / (ij)^p,
 \end{aligned}$$

$$E \sup_{(m,n)} \|\Delta M_{m,n}\|^p = E \sup \|\Delta M_{m,n}\|^p$$

$$\leq \sum_{i=1}^m \sum_{j=1}^n E \|\Delta M_{i,j}\|^p / (ij)^p < \infty,$$

by (3.5).

Thus,  $E[V(p, N)] < \infty$  and

$$E \sup_{(m,n)} \|\Delta M_{m,n}\|^p < \infty.$$

From (3) we get that the martingale  $(M_{m,n}, F_{m,n})$  converges a.s. Hence the conclusion follows from an application of Proposition 2.2. Q.E.D.

Now the above results can be applied to obtain the conditional version of the three series theorem in Banach space for two-parameter martingales.

Recall that the three-series theorem holds on a Banach space  $B$  if for every  $B$ -valued sequence  $(M_{m,n} = \sum_{i=1}^m \sum_{j=1}^n \Delta M_{i,j}, F_{m,n})$  we have that  $M_{m,n}$  converges a.s. on  $B$  provided the following conditions hold:

(i)  $\sum_{i=1}^m \sum_{j=1}^n E(\Delta Y_{i,j}^c | F_{i,j})$  converges a.s.,

(ii)  $\sum_{i=1}^m \sum_{j=1}^n E(\|Y_{i,j}^c - E(Y_{i,j}^c | F_{i,j})\|^p | F_{i,j})$  is finite a.s.,

(iii)  $\sum_{i=1}^m \sum_{j=1}^n P(\|Y_{i,j}\| > c | F_{i,j}) < \infty,$

where  $Y_{i,j} = \Delta M_{i,j}$  and

$$Y_{i,j}^c = \begin{cases} \Delta M_{i,j} & \text{if } \|\Delta M_{i,j}\| \leq c, \\ 0 & \text{otherwise,} \end{cases}$$

$c$  being an arbitrary constant.

**Theorem 3.4. (The three-series theorem)**

The following three assertions are equivalent:

- (1)  $B$  is isomorphic to a  $p$ -smoothable Banach space,
- (2) For every  $B$ -valued martingale  $M_{m,n}$ , if the condition  $B_\infty(p) < \infty$  a.s. holds then we have that  $M_{m,n}$  converges a.s.,
- (3) The three-series theorem holds on  $B$ .

*Proof.*

(1)  $\Rightarrow$  (2). This implication is a conclusion of Theorem 3.2.

(2)  $\Rightarrow$  (3). Suppose that we have (2) and

$$\left( M_{m,n} = \sum_{i=1}^m \sum_{j=1}^n \Delta M_{i,j} = \sum_{i=1}^n \sum_{j=1}^m Y_{i,j} \right)$$

is an arbitrary  $B$ -valued martingale.

Now the condition  $B_\infty(p) < \infty$  a.s. and the second condition (ii) of three-series theorem imply that

$$\sum_{i=1}^m \sum_{j=1}^n \left( Y_{i,j}^c - E(Y_{i,j}^c | F_{i,j}) \right)$$

converges a.s. and, by the first condition (i) of the three-series theorem,

$$\sum_{i=1}^m \sum_{j=1}^n Y_{i,j}^c$$

converges a.s.

The condition (iii) of the three-series theorem and Borel-Cantell's lemma end the proof of (2)  $\Rightarrow$  (3).

(3)  $\Rightarrow$  (1). We again use Proposition 2.2. Suppose that  $(M_{m,n})$  is a  $B$ -valued martingale satisfying the condition (3.5). Put

$$Y_{m,n} = (1/mn) \Delta M_{m,n}, \quad (m,n) \in N^2,$$

$$Y_{m,n} = 0 \text{ if } m \text{ or } n = 0.$$

It is easy to see that  $(Y_{m,n})$  are adapted to  $\sigma$ -fields  $(F_{m,n})$ . Further we observe that

$$P(\|Y_{m,n}\| > c | F_{m,n}) \leq CE \|\Delta M_{(m,n)}\|^p / (mn)^p, \quad (3.6)$$

(Chebyshev's inequality).

$$\begin{aligned} E \|E(Y_{(m,n)}^c | F_{m,n})\| &= \frac{1}{mn} E \|E(\Delta M_{m,n} 1_{\{\|\Delta M_{m,n}\| > C_{mn}\}} | F_{m,n})\| \\ &\leq \frac{1}{mn} E \|E(\Delta M_{m,n} 1_{\{\|\Delta M_{m,n}\| > C_{mn}\}})\| \\ &= C^{1-p} \frac{1}{(mn)^p} E \|\Delta M_{m,n}\| \left(\frac{1}{mn}\right)^{p-1} 1_{\{\|\Delta M_{m,n}\| > C_{mn}\}} \\ &\leq C^{1-p} \frac{1}{(mn)^p} E \|\Delta M_{m,n}\|, \end{aligned} \quad (3.7)$$

$$\begin{aligned} E(\|Y_{m,n}^c - E(Y_{m,n}^c | F_{m,n})\|^p | F_{m,n}) &\leq 2^p E(\|Y_{m,n}^c\|^p | F_{m,n}) \\ &\leq 2^p \frac{1}{(mn)^p} E(\|\Delta M_{m,n}\|^p | F_{m,n}). \end{aligned} \quad (3.8)$$

From (3.6), (3.7), (3.8), and (3.5) we conclude that the conditions (i), (ii) and (iii) of the three-series theorem hold for the sequence  $(Y_{m,n})$ . Hence, according to (3), we get that the martingale  $M_{m,n} = \sum_{i=1}^m \sum_{j=1}^n \Delta M_{i,j}$  converges a.s.. Finally Proposition 2.2 ends the proof Q.E.D.

**Acknowledgement.** We would like to express our acknowledgement to Prof. Nguyen Duy Tien for introducing us to this area of research and many fruitful discussion.

#### REFERENCES

1. J. Brossard, *Regularité des martingales à deux indes et inégalités de normes*, Lect. Notes in Math. **863** (1981), 91-121.
2. R. Cairoli, *Une inégalité pour martingales à indices multiples*, Lecture Notes in Math. **124** (1970), 1-28.
3. R. Cairoli and J. B. Walsh, *Stochastic integrals in the plane*, Acta Math. **134** (1975), 111-183.
4. I. Gichman, *Two-parameter martingales*, Yspekhi Math. Nauk **6** (1982), 3-28 (Russian).

5. Ledoux, *Classes Llogl et martingales fortes à parametre bidimensionnel*, Ann. Inst. Henri Poincaré **17** (1981), 275-280.
6. C. Metreux, *Quelques inéqualites pour martingales à parametre bidimensionnel*, Lecture Notes in Math. **649** (1977), 170-179.
7. A. Mayer, *Martingales and stochastic integrals I*, Lecture Notes in Math. **284** (1972).
8. A. Millet, *Convergence and regularity of strong submartingales*, Lecture Notes in Math. **863** (1981), 50-58.
9. Nguyen Van Hung, Nguyen Duy Tien, *On the almost sure convergence of two-parameter martingales and the SLLn in Banach spaces*, Acta Math. Vietnamica, **17** (1992), no. 1, 127-143.
10. Nguyen Duy Tien, Dang Hung Thang, *On convergence of martingales and geometric properties of Banach spaces*, Teorya Veroyet. Prim. **26** (1981), 385-391 (Russian).
11. J. Szulga, *Three-series theorem for martingales in Banach space S*, Bull. Acad. Polon. Sci. **25** (1977), 175-180.
12. A. W. Woyczynski, *Geometry and martingales in Banach spaces*, Part I. Lecture Notes in Math. **472** (1975), 229-275.

Institute of Informatics  
Lieu Giai, Badminh  
Hanoi, Vietnam

Received February 17, 1992